AQIH E £ F{UE| 220

&5 89/HMF ololx|

=
20l INAEL A% S|E A3 F DIN 7984 2! £ZF L{E DIN 985, A

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/4



K

AQIH E £ F{UE| 220

&5 89/HMF ololx|

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



°
AOIHI = E L o= L
TIE A~ 'rrE 9"—1lE'I E'I'DIE
=M
R
D
]
o
]
K0490.512 - K0490.518 77} X |04l M
S B2 EUX| 2o & 274
o
7=
|
'}
G L D <C
|
Y :
\
P
s g9
A1 58 HUE, 2205
FEWHs A B C D E F G H K L M N O P R s U
K0490.512 12,1 6" (2x) 25 26 294 40 50 20 - 64 44 5 35 21 375 M6x18 38
K0490.514 14,1 6*(2x) 25 26 294 40 50 20 - 64 44 5 35 21 375 M6x18 38
K0490.516 16,1 6*(2x) 25 26 294 40 50 20 - 64 44 5 35 21 375 M6x18 38
K0490.518 18,1 6*(2x) 25 26 294 40 50 20 - 64 44 5 35 21 375 M6x18 38
K0490.520 20,1 7*(4x) 45 40 42 57 75 33 57 106 73 7 75 33 52 M8x35 -
K0490.525 25,1 7*(4x) 45 40 42 57 75 33 57 106 73 7 75 33 52 M8x35 -
K0490.530 30,1 7*(4x) 45 40 42 57 75 33 57 106 73 7 75 33 52 M8x35 -
K0490.540 40,2 9*(4x) 60 56 57 76 100 44 76 144 100 10 100 48 69 M10x50 -

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

4/4



